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1.

MATHEMATICS

If one root of the equation

XX+ax+b=0is % times the other.

Then the correct relation between
aandbis

A) 3a?=16b
B) 16a%=3b
C) 3a=16b?
D) 16a = 3b?

. The area of a triangle formed by the

points (a, b +¢), (b,c+a),(c,a+b)is
A) a+b+c
2
g) abc
2

C) 1
D) 0

fy=m+m?+m3+....cowhen|m| <1,
then the value of 'm’ is

<

A)

-
f<
g

B)

ury
+
e

—
!
s

C)

ol
~<‘+ <|
<

D)

Page No. 3

ARy =m+m?+m®+ ...

T

1. 3R x? + ax + b = 0 FHEF =1 & 7@
agiaa%gm%a}aaﬁzbaa
i & o deu ?
A) 3a?=16b
B) 16a?=3b
C) 3a = 16b?
D) 16a =3b?

2. (a,b+c), (b, ¢ +a), (c, a + b) fergai

TR @ U fie & Sywer }

A) a+b+c
2

B) 2bc

C) 1
D) 0

co e
Im| <18 ‘m' AR

<

A)

—
S
3

B)

—t
+
-

-
i
-

C)

D)

—t
~<|+ ~<|
l
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4. Inthe figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP =60°
then the area of AABP is

A

O

B
No

A) ?cm

B) 8 cm
C) 83 cm

D) 443 cm

5. Thetop of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is

10
A)ﬁm
B) 1043 m
C)ﬁm

10
D) y3m
=3 3 -3
6. When ('?%)4 x{(%)z “(g) } is

simplified we get

125 27
A) 37 B) 125

4, 3t i O STEga % Hafeg O A
AB = 8 cm W @ fimr mn ® | TR
|ABP = 60° & df AABP &1 &5 &

A

O

B
V3

A) ?—cm
B) 8cm
C) 8/3 cm

D) 443 cm

5. i wt i ®9 A Z21 goN U5 T
3R & 10 m ht g W s g 2 3R
et & 30° ST II IV ST & 9t U
EIRSCIEE

10
A) 7—5 m
B) 1043 m

c) ¥3 m
10

D) J3m

« (- & -
T geen W e e

125 27
A) 7 B) 125

€)1 D) 0 c) 1 D) 0

e




7. The refiection of the point (-3, —2) in
Y axis is

A) (3,-2)
B) (-3, 2)
- C) (3,2
D) (0,-2)
8. il;rational number between gand %
A)

de Jg

B)

C)

D)

RN -sIN
- | D

9. Ifa=2 and b = 3, then the value of
(@ +b®)"is
A) 17
B) 72

1
C)ﬁ

1

D)E

10. If f(x) = X2 — 5x + 7, then f(2) - f(~1) =
A) -34
B) 34
C) 12
D) —-12

C Page No. 5

7. (-8, -2) Rg = Y a1 & woer firer
A) (3,-2)
B) (-3, 2)
C) (3, 2)
D) (0, -2)

8. gaﬂz %asaaaamq&aam%
A)
B)

C)

o~ 28 Jle X8

D)

9. WM a=23b=387 (a®+b?)"
A
A) 17
B) 72

1
0)1—;

1

D)i

10. 3R f(x) = x2 —5x + 7AW (2) — f(—1) =
A) -34
B) 34
C) 12
D) —12
1 PECE




11.

12.

13.

14.

If sinB + cosecH = 2 then
sin%d + cosec?0 =

A) 4
B) 3
C) 2
D) 1

Two vertices of a triangle are (1, 3) and
(4, - 5). If its centroid is (7, 2) then the
third vertex is

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is always
true with respect to parallel lines ?

A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60°cos 30° cosec 45°
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 342

When

C) %
32
2

DfE:

Page No. 6

11.

12.

13.

14,

3T sin® + cosec = 2 &, T sin®9 +
cosec?o =

A) 4

B) 3

C) 2

D) 1

B afid (1, 3) et (4, - 5) 8 | 2R
3UHT F5h (7, 2) &, o Fiea il S

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

T @3l = Hee A 3 & i s
g ad R ?

A) 3T T 1 Fel I I Bl B
B) 37 TeHl 1 YW Y[ Biar 8

C) 3% TeTFI %t IOFHS T Bl &
D) 3% oAl i wifsts — 1 Bt 3

2sin 60°cos 30° cosec 45°
tan 45° cos 60° sin 45°

gagH W& e ?

A) 6

B) 32

3
C) ﬁ
3v2

DS

1 PECE
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15. The sum of first 20 odd natural
numbers is
A) 210
B) 250
C) 200
D) 400

16. The sum of the numerator and the
denominator of a fraction is equal
to 7. Four times the numerator is 8 less

than 5 times the denominator. Then the
fraction is

A)

B)

C)

Rl N O]

D)

17. In the figure, APQR Ill APST and
perimeter of APQR : perimeter of APST
=3:4. Then the area of APST : area of
APQR =

¥ T
Q<
R
S
A) 16:9 B) 9:16
C) 3:4 D) 4:3

Page No. 7

15. T8t 20 Form wrepfern @il @
IR
A) 210
B) 250
C) 200
D) 400
16. GRS mam WA 7 & | sim
FATNRBESTNASATHE, A
=g
2
A} g
1
B) =
5
C) o)
3
D} I
17. = fwr g e o 7R
APQR Il APST 3ik APQR it qftfy
APSTHiuftfr =3: 4, dt APST =1
EAhE : APQR 1 &5% &
R il
Q
R
S
A)16:9 B) 9:16
C) 3:4 D) 4:3
1 PECE




18.

19.

20.

21.

Every person in a room shake hands
with every other person. The total
number of handshakes is 45. The
number of persons in the room is

A) 5

8) 10

C) 15

D) 20

If x(x —2) = 1, then the value of x? + lz
is X
A) 0

B) 2

C) 4

D) 6

The value of tan 7° tan 23° tan 39°

tan 60° tan 51° tan 67° tan 83° is
A) 0 B) 1

]
C) 3 D):/?

An arc subtends an angle 60° at the
centre of a circle of radius 6 cm then
length of minor and major arcs are

A)2rand 10n
B) 10nrand2=
C)Brnand4n
D) 4nand6n

Page No. 8

18.

19.

20.

21.

UEh AL ST NE SATRT GER AT 8 8
foremmar & | Ty firem & o1 g 45§
Y 38 w3 T hl T 3

A) 5

B) 10

C) 15

D) 20

IR x(x—2)=18a x2+lazﬁr

X

oI B
A) 0
B) 2
C) 4
D) 6

tan 7° tan 23° tan 39° tan 60° tan 51°

tan 67° tan 83° 1 qc9 &

A) © B) 1

©) V3 D) 7

T 6 cm 353 % 9 % g ¥ T 919 60°
o7 JTafid a1 2 d 7Y I AR Feg I
EORSCIERS

A) 27310~

B) 10rsR2n

C) 8n3t4n

D) 4n36n

1 PECE
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22.

23.

24.

lfp+g=6andpg=8thenp®+q®=
A) 216
B) 144
C) 72
D) 36

In the figure, if AB || CD, CD || EF and
Xx:y=3:2thenz=

22, JMp+q=63Mpq=8%,Ap+¢=

A) 216
B) 144
C) 72
D) 36

23. 39 A H 3R AB || CD, CD || EF 3R

X:y=3:2%,dz=

A) 36° A) 36°
B) 72° B) 72°
C) 144° C) 144°
D) 108° D) 108°
In two concentric circles of radii 15 cm 24, a’hﬁ?ﬁﬁ o B 15 em 3t 9 om
and 9 c¢m, the length of a biggest chord 2 O R T i Twe 7 sl N for o
of the larger circle which is a tangent to T ot Tt Y R, o s ¥
the smaller circle is
A) 24 cm
A) 24 cm
B) 20 cm
B) 20 cm AU
C) 12cm C) 12em
D) 10cm D) 10 em

Page No. 9 §
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25. in the figure, A ABC and A CDE are

right angled triangles. If AC = 24 cm,

CE =7 cm and |ACB =|CED then
AE is

C

A B

A) 30cm
B) 25¢cm
C) 22cm
D) 165cm

26. The sum of two numbers is 161. If one
of the numbers is 30% more than the
other then the numbers are

A) 71 and 90
B) 70 and 91
C) 54 and 107
D) 60 and 101

27. The common factor of (p®> + 9p + 14)
and (p? + 13p + 42} is
A)p+2
B)p+6
C)p+3
D)p+7

C Page No. 10

25, AHfa § A ABC 3t A CDE a5
i 1AM AC =24 cm, CE=7cm
3k [ACB =|CED %, @ AE?

C
D E

-

A B
A) 30cm
B) 25 cm
C) 22cm
D) 15¢cm

26. < wEITR = A 161 &1 A 37 T |
Y T TR A 30% 3fren @ o 9w e B
A) 71 3R 90
B) 70 2R 91
C) 54 3R 107
D) 60 3R 101

27. (p?+ 9p + 14) 3 (p? + 13p + 42) F
THH UGS §
A p+2
B) p+6
C)p+3
D) p+7

1 PECE
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28.

29.

30.

31.

C) 64

Pramod and Praveen are the sons of
Prajwal. The present age of Prajwal is
4 times the age of Pramod and 6 times
the age of Praveen. If the sum of their
ages is equal to 51 years then the
present ages of sons are

A) 9 years and 6 years

B) 8 years and 9 years

C) 9 years and 4 years

D) 5 years and 9 years

In a circle inscribed in AMNO having
MN =12 cm, MO = 14 cm and

NO = 18 cm touching sides at P, Q
and R, then MP + NQ + RO is

A) 18cm
B) 20 cm
C) 22¢cm
D} 44 cm

The angle between the hands of a clock
when the time is 4 O' clock is

A) 60°
B) 90°
C) 150°
D) 120°

The median of the observations 46, 64,
87, 41, 58, 77, 35, 90, 55, 92, 33 after
replacing 92 by 99 and 41 by 43 is

A) 55 B) 58
D) 43

Page No. 11

28.

29.

30.

31.

TG 3R yeftor yeaw & W2 & | woue
&l TAAM Y FHIG Y Y F 4 T
3T wrefior <6 T @ 6 TAT R 1 IR St
Y 1 1T 51 T4 & TR &, 0 3 Y
Fdam amg &

A) 8 gre 3fR 6 aTe

B) 8 @iw 3K 8 ¥

C) 94 3K 4 A

D) 5 e 3K 9 ¥t

AMNO # U 34 ! 3iftra o mn g,
s/ MN = 12 cm, MO = 14 cm 3R
NO =18 cm &, S q=efi & P, Q, R
R ey FHaT e, T MP + NQ+ RO R

A) 18 cm
B) 20 cm
C) 22cm
D) 44 cm

4 =5 TS} F Fial % F1 w1 H
BT &

A) 60°

B) 90°

C) 150°

D) 120°

IR 92 99 T 3 41 1 43 A wiga =
T & 91 STaeie 46, 64, 87, 41, 58, 77,
35, 90, 55, 92, 33 i mitm §
A) 55 B) 58
C) 64 D) 43

1 PECE




32

33.

34,

If a line 3x — ky = 5 passes through
(3, 2), then the value of 'K’ is

A) 4 B) 3
C) 2 D) 1

The rationalizing factor of abd% is

A)‘/%
B)\/_g

C) an-1-1
bn+1

D) an-—1
bn—-‘i

Match the following :

Solids Volume
1, Cone a. %nr“
2. Cylinder b. mréh
3. Sphere ¢ %ma
4. Hemisphere d. %nr"’h

e. %urzl

A)1-d,2-b,3-a,4-¢
B)1-d,2-b,3-8a,4-¢
C)1-¢,2-b,3-8,4-cC
D)1-e,2-d,3-2a,4-b

Page No. 12

32.

33.

(3, 2) AR GH W@ X —ky =5

YA K

A) 4 B) 3
C) 2 D) 1
absl% 1 IR TUeETE 2

o
B)Jg

C) an+1
bn+1
D) an—l
bn—‘l
34, g fafaw |
s e PG
1. 3% (Pr) a. %ura
2, ¥ (Rrte) b, nr?h
3, TiemsHR c. E.m.a
3
4, NEE d. %nrzh
8, %nrzl

A)1-d,2-b,3-a,4-¢
B)1-d,2-b,3-a,4-¢
C)1-e,2-b,3-8,4-c
D) 1-¢,2-d,3-8a,4-Db

1 PECE




35.

36.

37.

38.

If m and n are the roots of the quadratic
equation xX®+ px+ 8=0withm-n=2
then the value of ‘p’ is

A) =8

B) £7

C) +6

D) x5

If the quadratic equation
4x2 — (p — 2) x + 1 = 0 has equal roots
then the value of ‘p' are

A) 2or6
B) 2or-6
C)-20r-6
D) -2o0r6

The quadrilateral obtained by joining
the points (1, 1), (— 1, 5), (7, 9) and
(9,5)is

A) Square

B) Rhombus

C) Rectangle

D) Parallelogram

The linear equation coincide with the
line2x + 3y =12 is

A) 2x+ 3y =15
B) 7x+ 14y =13
C) 8x+12y='48
D) 8x + 10y = 18

Page No. 13

35.

36.

37.

3R m 3R n feEras T

X 4+px+8=0FqARANM M—-n=2
e pHITER

A) £8

B) =7

C) 6

D) +5

3R fgems el 42 —- (p -~ 2) x + 1=0
F U GAFEL W p F T §

A) 29716

B) 291-6

C)-29-6

D) -2a16

(1,1), (=1, 5), (7, 9) 3 (9, 5) Fergat
) S W TG T, TE R

A) =

B) avags

C) sia

D) HMIR TS

38. Yufig THieh S 2% + 3y = 12 H A A

q e, T8 R
A) 2x+3y=15
B) 7x + 14y =13
C) 8x + 12y = 48
D) 8x + 10y = 18
1 PECE




39.

40.

41,

-4
Iftan @ = ?then the value of sin 0 is

4
A)E

4
+2
B) 5

-4 4
C) ?but not 5

4 -4
D) 5 but not 5
It sin (3A-B)=1and

cos (2A-B) = é then the value of
2
sin A and cos B are

1
A ¥3,0 B) 5.0
2

c) V3,1
2

The simplest form of

)

1
x*®

1
C) XB+F

B) x*-

D) x13 _%

Page No. 14

39.

40.

41,

4

SR tan @ = —~ 2, MsinoFMIAR
4

A) 15

4
+—
B) 5

C) %%@rm%atﬁ

D) %%m:gﬂ‘ﬁ

37 sin (3A ~ B) = 1 3R

cos (2A—B) = V3 2, % sin A 3k
cosBwgmd 2

A) ﬁ,o

8) =0
2 =

c) 3,1
2

e

FEAETIE

1
D) 5,1

A) 1

B) X8 -

XB
C) x® +xl“

D) X1B —X1T

1 PECE




42,

43.

44,

45,

The mean of 15 observations is 23. If
each observation is muitiplied by 2, then
new mean is

A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
If ohe student is chosen at random, then
the probability that he is not a boy is

1 13
V15 ® 28
1 1
©) 18 D) 13

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm,5c¢cm
B) 5¢cm,4cm, 8cm
C)8cm,3cm,9cm
D) 9cm, 4 cm, 11 cm

1,3,6,10, ..... are triangular numbers.
The smallest triangular number that
exactly divisible by 9 is

A) 18
B) 27
C) 36
D) 45

Page No. 15

42,

43.

44,

43,

15 raciiel 1 e 23 ¥| 3R oS

1T i 2 | T R ST At o few
ST
A) 23
B) 46
C) 25
D) 36
T U # 13 wsfaat 3t 15 @es B
IR I & Foreft v o wl g ST A
I TSH 7 BIA H g9 B
1
A 5 B) ;_2
1 1
C) 8 D) 3
T | s e PR v i R 7

A) 2cm,3cm, 5¢cm
B) 5¢m, 4 cm, 8 cm
C) 8cm,3cm, 9cm

D) 9cm, 4 cm, 11 cm

1, 3, 6, 10, ..... iy e &) gl
B Hrenivia wE st 9 @ yuia: fawrer 2
Cid

A) 18

B) 27

C) 36

D) 45
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~ 46. Ifa, b, care in AP and

a;b =X, b;c =Y then the value of
(x+y)is

A) 2a B) 2b

C) 2(a+Db) D) 2(b +¢)

47. Four coins are tossed. The chance of
getting none of the face as head is

1 1
A 18 B) 3
0
03 D)%

48. If (n?>— 1) is divisible by 8 then ‘n’ is
A) a natural number
B) an integer
C) an even integer
D) an odd integer

49, A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A) 1:2
C) 4:1

B) 1:4
D) 2:1

50. A 20 m deep well with diameter 7 m
is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The height of the
platform so formed is
A) 25m
B) 3.5m
C)5m
D) 7m

C Page No. 16

48.

47,

48.

49.

50.

3R a, b, c AP ¥ 8 3t
a+b__ b+c

2 "x1 2 =y ﬁ?ﬁ(x*'Y)
I §
A) 2a
C) 2(a+Db)

B) 2b
D) 2(b +¢)

IR el 71 3o oM w et ° off i
q 37 hl AT

;
A J6 B)

1
C) 5 D)

Hlw |-

AMBY (MP-1) M Ea ‘v &
A) ST TE

B) quIih

C) ol = (ww qurler)

D) ferew uifer

TF 4 cm WSIT = O i Feht 1 cm el
& T ¥ el T @ | g o Al s
¥ & HaT S% 8 3T &

A)1:2 B) 1:4

C) 4:1 D) 2:1

T 7 m =@ 3 20 m et Fd Y gan
I T R IR 3w gER # g |
22 m x 14 m %1 99 =771 TR &, 3G 60
& S @

A) 2.5m

B) 3.5m

C)5m

D) 7m

1 PECE




51,

52

83.

54.

86,

56.

CHEMISTRY

Plaster Of Paris (POP) is
A) CaS0,2H,0

B) CaSO,.H,0

C) CaS0Q,.12H,0

D) CaSO,.%4H,0

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B) Ductility

C) Conductivity
D) Sonorous

is most malleable metal.
A) Au
B) Al
C) Fe
D) Zn

Is non-metal but it is
lustrous.

A) Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold
water,

A) Sodlum
B) Calcium
C) Magnesium
D) Potassium

Dehydration of ethanol gives
A) ethane

B) ethanpic acid

C) ethene

D) ether

Page No. 17

51,

52.

83.

54.

56,

586.

WA e

R 7w 4R (POP) § |
A} CaS0,.2H,0

B) CaSO,.H,0

C) CaS0,.%:H,0

D) CaSO,.%H,0

uTgedt W vereht arl § wien i e =
— wEEel

A) seEraa-a

B) @@

C) vagsd

D) Aqt/ere

e mETaee g ag R
A) Au
B) Al
C) Fe
D) Zn

— Mug kAT smeer
A) T

B) R

C) s

D) i

38 Tt & T ik et

wmd |

A) wif¥an
B} #edlm
C) tfirm
D) gieRrm

39T = et
A) 399

B) 38-Tss Tfte
C) 9o

D) $R

R
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57.

58.

58.

60.

61.

solution of acetic acid in
water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The melting point of pure ethanoic
acid is

A) 300K

B) 298 K

C) 310K

D) 290 K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atomic nature

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum
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57.

58.

59.

60.

61.

i Rits e __Hi
i fem g ST 2 |

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

G PF TR FTEHH ____ ® |
A) 300 K
B) 298 K
C) 310K
D) 290 K

T AcahiEia it HEEITS TS 3
% foru ufrg o o <hi Iufeufa & wfafsan
g It W

A) seffhre

B) aifafhehyH

C) teifafm

D) Wfafsd

T o T[T IR
w4 B |

A) TRHTY ¥R
B) U AT
C) WRHW] AR
D) Ty S

i wrei~e = g; freefam senfia
GRS

A) SfEFT e

B) YW %1 digt

C) seftfem det

D) fom

&+ A E
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62. is used as plaster for 62, =t adt fufa & e sfeat
supporting fractured bones in the right % gud % e e & w5y § 3w
position. T )

A) CaSO,10H,0 A) CaSO,"10H,0
B) CaSO,2H,0 B) CaSO,-2H,0
C) CaSO,"'/,H,0 C) CaSO,/,H,0
D) CasO, D) CaSO,

63. metal exist as liquid at 63. U1y FR F aIEH W fafRre
room temperature. () F eI F e |
A) Bromine A) SR
B) Mercury B) ®FIR (m)

C) Lead C) o
D) Zinc D) 5w (sram)

64. ' isan allotrope of carbon 64. YFHfd | Ted FHTST HIei FT 79T g

which is hardest in nature. HEATE?

A) Diamond A) SRS

B) Graphite B) TR

C) Silicon Carbide C) faferrm #riig
D) Fullerene D) i

65. Amphoteric oxide is 65. Syt stfagmEe 21
A) CuO A) CuO
B) Na,0 B) Na,0
C) K,0 C) K0
D) ALO, D) ALO,

66. pH of blood is 66. W pH &

A) 5.6 A) 5.6
B) 6.5 B) 6.5
C) 7.4 C) 7.4
D) 4.7 D) 4.7




67.

68.

Our stomach produces
acid which helps in the digestion.

A) H,SO,
B) HNO,
C) H,PO,
D) HCl

Stinging hair of nettle leaves inject
causing burning pain.

. A) Ethanoic acid

69.

70.

71.

B) Methanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C) Sodium hydroxide

D) Sodium chioride

is used in the manufacture
of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Silver articles become black after
some time when exposed to air. This
is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Silver sulphite
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67.

68.

69.

70.

71.

TR e H ST
TR TEA R TEE WA g |

A) H,SO,

B) HNO,

C) H,PO,

D) HCI

foreg ¢t % &% ARA 910 1 F TR W
S % T2 oI SHITOT ST &

A) 3TEE TS

B) s wfre

C) WiHTser ufrs

D) sgeAies ufre

afFTEEIR |
A) wifsTm FERE
B) Gifem RIS s
C) wifgan tgiads
D) difsad Fls

ey o o & fom Cal
ST AT & |

A} =1t grer

B) afdm wre

C) difem egirds
D) wifsam wethe

T U T 3T o $© a9 918 Tt H
7Y STl B ST § | ST hRT

TR |

A) faeatoethe

B) fiewt atfrds

C) e aewige

D) fre wethe
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72,

73.

74.

75.

76.

Bronze is an alloy of
A) Cu&2Zn

B) Cu & Sn
C) Cu&Pb
D) Cu & Ti

is an alloy used for
welding electrical wires.

A) Bronze
B) Brass
C) Solder
D) Steel

is a major component of
CNG.

A) Methane
B) Ethane
C) Propane
D) Butane

For the hydrogenation of vegetable
oils is used as catalyst.

A) Pt
B) Ni
C) Pd
D) Ag

pH of milk of magnesia is
A) 11

B) 10

C) 11.5

D) 10.5
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72.

73.

74.

75.

76.

He

A) Cu & Zn
B) Cu & Sn
C) Cu&Pb
D) Cu&Ti

TRy ag R |

Tororeft & arl =t wire % g

. TmugwmswEmtmmeme |
A) FHE

B) diaat

C) firema

D) s&m@

CNG 1 & 75 21
A) T
B) $4
C) Witk

D) =g
FToafd Aell o BGIoH IR & foTg

I I & T H I TR S R |
A) Pt

B) Ni

C) Pd

D} Ag

R HqEEpH . ®1
A) 11

B) 10

C) 11.5

D) 10.5
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77.

78.

79.

80.

81.

R

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCI
C) HNO,

D) HSO,

acid is present in Tomato.

A) Oxalic

B) Citric

C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is calied

A) Brine

B) Milk of magnesia
C) Washing soda
D) Baking soda

Bleaching powder is represented as
A) CaClO

B) CaOCI

C) CaOCl,

D) Ca,0OCl,

When lead nitrate is heated emission
of occurs.

A) N.O,

B) NO,

C) NO

D) N,
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77.

78.

79.

80.

81.

5 1 STATE F
e AR fiS aRAi A ST S |

A) H,SO,

B) HCI

C) HNO,

D) HSO,

et | Rz gt |
A) Ssiis

B) faf¢s

C) el

D) AMIEH

iean FIRES & Selig S A
FEd 2

A) R

B) FAfrn w1 gy

C) Yo arst

D) sfFTarer

e gt
T B

A) CaClO
B) CaOClI
C) CaOCl,
D) Ca,OCl,

T G 15O I AT I &
T IeES T ST R |

A) N,0,

B) NO,

C) NO

D) N,

o1 wfafafte
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82. Na,SO, + BaCl, — BaSO, +
2NaCl is an exampile for
reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

83. Chips manufacturers usually flush

bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen
D) Carbon dioxide

84. On passing excess of carbon dioxide
through lime water is
obtained.

A) CaCO,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

85. solution does not
conduct electricity.

A) Sodium hydroxide
B) Calcium hydroxide
C) Glucose

D) Hydrochloric acid
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82. Na,80, + BaCl, —— BaSO, +
2NaCl 78 wiishar %
fore we SeTEm @

A) T

B) der e
C) ove 3ueeT
D) §iFw

83. T Fmiar st w fawm i SRS
B @ T & fore g & |y
s mm s |
A) aTfFRae
B) FgisH
C) TgrM
D) HESEE

84. T & T & TreEA | i
FETSEATIE TgaH W
T BT § |
A) CaCo,
B) Ca(OH),

C) CaH,
D) Ca(HCO,),

85. I fee o demer
T H@rg |
A) Hifsa TR
B) hediam tgiadE
C) o
D) &Il Thrs

1PECE |




86. Manganese react with very dilute 86. Wgd Taen HNOS%WW%W g
HNO, to evolve gas. g Rt A @ |
A) H, A) H,
B) N, . B) N,
c) o, c) o,
D) NG, '. D) NO,
87. The order of reactivity is 87. wiafsran #1959 B
A) Al >Mg> Fe > Zn ' A) Al > Mg > Fe > Zn
B) Mg > Al >2Zn > Fe B) Mg > Al >2Zn > Fe
C) Al>Mg>2Zn>Fe C) Al>Mg >2Zn>Fe
D) Mg > Al > Fe > Zn D) Mg > Al > Fe > Zn
88. Cinnabar is | 88, fFmER g
A) HgO A) HgOo
B) CuO B) CuO
C) Hgs C) Hgs
D) Cu,S D) CuS
88. Sulphide ores are converted In to 89, TEHHE FESHI W _FW
oxides by fFemrew # uiafis R s g |
A) Combination A) B
B) Reductlon B) #H
C) Calcination C) wem
D) Roasting D) ¥R
90. Fe,O,, + 2Al, —2Fs, + A,O,  + Heat, 80. Fe,0,,+ 2Al,—2Fe, + Al,O, , + Heat,
This reactlon is called ARG s s
A) Calcination A)
B) Thermit reaction B) emige wfifsk
C) Thermal reaction ' C) et wiafssan
D) Displacement D) fereng




o1.

92.

93.

94.

95.

Modern periodic table has
periods.

A) 18
B) 8
C) 7
D) 17

Metalloids is
A) Silicon

B) Carbon

C) Magnesium
D) lron

M shell of chlorine contains
electrons,

A) 7
B) 6
C) 4
D) 5

Metal oxide + Acid — X + water, X is
A) Metal

B) Acid

C) Base

D) Salt

Hydronium ion is
A) H*

B) H,O

C) OH.2?

©)
D) OH

91. 3y e wrel # sttt

92,

93.

94,

95.

g

A) 18
B) 8
C) 7
D) 17

Heresew (Mg EE) _ ®

A) Tafeemi
B) =
C) dmfm
D) @er

TFAE % W N &
BAE |

A) 7

B) 6

C) 4

D) 5

TeR

UTg ATFEE + A - X + I,

X 2l

A) b1g
B) 3Tt
C) 34
D) T

LEUREL R S

A) H*
B) H,0*
C) OH®

0
D) OH
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96.

97.

98,

99.

100.

gas is liberated when
zinc is treated with H,S0,.

A) O,
B) SO,
C) H,

D) SO,

'Quick lime is

A) Ca0
B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CQ, in
air to form a thin layer of

A) Ca(HCO,),
B) CaO

C) Ca(OH),
D) CaCO,

During respiration
combines with oxygen in the cells and
produces CO, and water,

A) Sucrose
B) Fructose
C) Glucose
D) Galactose

Colour of ferrous sulphate crystals
A) Orange

B) Green

C) Blue

D) Yellow
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86.

97.

98.

99.

100.

g T Bl @ 5 H,S0,
o 1Y reh 1 Iu=R R s ® )
A) O,
B) SO,
C) K,
D) SO,

it < 4
A) Ca0

B) CaCl,

C) Ca(OH),

D) Ca(HCO,),

3 g3 = R | gan § CO, % @y
__ < Joch 7w am % T
fersraT e © |

A) Ca(HCO,),
B) CaO

C) Ca(OH),
D) CaCQ,

TG % 90w |
e & a1 e CO, 3R arit =1
ERICEEGI A
A) GHE
B) g

C) |
D) MEEE

ieHY T THieS T T 3
A) At

B) &

C) fem

D) e
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101.

102.

103.

104.

PHYSICS

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion’

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is

A) Thermal effect
B) Balwin effect
C) Raman effect

D) Tyndall effect

The blue colour of the sky and the

redding of sun at sunrise and sunset
is caused due to

A) Scattering of light
B) Reflection
C) Thermal effect

D) Atmospheric diffraction

One ampere current is

1coulomb
1second

B) 1 coulomb x 1 second

2 coulomb
C) —
1second

D) 1 coulomb x 1 second?

101.

102.

103.

104.

witforer R

ar it femfemmen = wwor }
A) FgHSH I

B) srgweei faed

C) argHsc Wi

D) SrgAsea it 3 Zr Y i fEhily
HITTSSH U G0 SHIT i frhivi &
A) giE TE

B) STeE I

C) THA W=

D) few yuE

TR o e U1 iR gEieg ofR waiw
& e g & T T 7 HIT € §

A) WehreT =T TRl

B) T

C) & e

D) argreey fads

T TR T amr &

N S

B) 1 %era x 1 ¥

o) 2 g
195ve?

D) 1 Fewt x 1 Hhs?
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105. Potential difference between two
points is equal to

A) Work done
Charge

B) Charge x Work done

C) Charge
Work done

D) (Charge)®
Work done

106. Conductors of electric heating devices

such as bread toasters and electric

| irons are made by alloy rather than pure

metals because

A) Alloys have low resistivity

B) Alloys have high resistivity

C) ltis not dependent on resistivity

D) None of the above

107. A current through a horizontal power

line flows in East to West direction. The

direction of magnetic field at a point

i directly below the power line is
J A) North to South

| B) South to North

C) West to East

l D) East to West

105. 2 firgatt 3 sfrer & feraian % sT

A) %EITWEFIET
T

B) TR x T T e

TR
©) fear T

D) _ OPm°
e T S

106. ¥ e iR fargm gEh S fogga i %
YW 3 HaTeH [g UTgalt % aea vy
YT ¥R T ST § TR
A) T argedt # wiedusran %8 & &
B) forsr gt & wheriveran it Bt
C) 7% witrreha ¢ Frit TEt Beft @
D) Iude § ¥ S e

107. we AR ferga Offs TR wreEm A T U
o & ufeem foun # wanfea €t ® 1 fore
ifaa a6 e ) < g R gehte &
&I e Bt 8
A) IWR ¥ qigor
B) gf&or & IW
C) umm A
D) & & i

e 1 PECE
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108.

109.

110,

The magnetic field due to current

carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turn

C) % times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
Inside a solenoid can be used to magnetise
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed Is called as

A) Electromagnet

B) Diamagnet

C) Paramagnet

D) Permanent magnet

The magnetic field inside a long straight
solenoid carrying current

A) Is zero

B) decreases as we move towards its
end

C) increases as we move towards its
end

D) is the same at all points
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108.

109.

110.

n guTSETe SR i 98 HEa

TMETHR Ft h HIOT Yo 8 el 2

A) n? &% w9 # 52 wmn 3§ whe 9w g7
IeaTiea

B) n SR ¥ &9 § & WEN § Thel SR g
Iearfed

C) %m%mﬁa@wﬁmmﬂm
Ioaifed

D) TS FRI ERT Ieqiied o ®HM

qitieTe o e Ieied Aot Yo
& T ITAW HEE F AFR T T G
qrf S T TR & g ) galna FE
& fovg e < whar & | <Y e = B,
% g1 < B

A) ferge o

B) wRrgwe

C) orggws

D) o e

figa ui T8 FEAR UF wE |

ftferent 3 iR e &

A) IITE R

B) -3 w0 37 i I g &, T
Sinkd

C) 3 @ e sim At S T §, WA I &

D) wft figedt w wwm B &
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P A PRSI S T

e e

(S T PR

T PR,

o

111. The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor
D) Generator

112. The direction of the electric current is

taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of electrons

113. A piece of wire of resistance R is cutinto
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R’,

the ratio %’ is

A Jos
B) }g

C) 5
D) 25

114. Which of the following is not an example
of conventional energy source ?

A) Wood

B) Gobar gas

C) Nuclear energy
D) Coal

D} il
c

111, g uftay (37 @fdhe) @ aiay 6 g
F foru 3a2t fera waTen gean
KECTUR
A) wferaes

B) &
C) AR

D) R

112. frega awu i fmm o st
A) sl i vaTs i e & wuE
B) sovagAl i waTe <t famm < Tt
C) ol & are i fam & wererd

D) Tl 3 waTe 3 i ferega % e i
fm T ?

113, RS R % a1 gwel Wi §AW wEl
F wrer o & | o R TR
% Sivgr o & | AR 7@ S W b
wRw R 3, @ BR, @ oo

A Yos
B) %5
C) 5

D) 25

114, Frefafaa & & Tt THuRes 91 o1 @
e
A) Sl
B) TR w
C) W et
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1185,

116.

117,

118.

119.

Which among the following is a
non-conventional source of energy ?

A) Fossil fuel

B) Solar energy

C) Hydro power plant
D} Wind energy

Retina of the eye is a

A) Light sensitive screen
B) Lens

C) Object

D) Apetture

The human eye can focus objects at
different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia

B) Accommodation
C) Near sightedness
D) Far sightedness

The change in focal length of an-eye
lens is caused by the action of the
A) Pupil

B) Retina

C) Cilliary muscles

D) Iris

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopia

C) Hypermetropia

D) Astigmatism
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1185.

116.

117.

118.

119.

Freafefaa & @ *an = w1 @ )
YRYF Ea & 7

A) Samm §ue

B) ®R S

C) Sraferga w4

D) =g =il

it =7 s (Aved) B
A) T Tl GaEA T
B) &

C) =g

D) fsx

i@ F A0 F Breher T H gRERE
w0 i g & aegett W e st
Mo g | Fwa &

A) IR AT

B) gy

C) Free g 3w

D) {gR AW

a1t o =g =t ke TS 3 TR s
RO e e ¢

A) gacht

B) stféme

C) fuferrit wimufmat

D) Hi=

30 Fe % |y Hiw % g o
B el ® | Rl = e wmen &
A) fFe gfR 9w
B) SR R g ay
C) i g 3w
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120.

121.

122,

123.

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo
B) Red
C) Orange

D) Yellow

Equivalent resistance (Flp) of the parallel
combination when two resistors R, and
R, are connected in parallel is equal to

R, +R
AN S
R,
H1 m R2
R -R,
R, +R,
RR,
R, +R,

B) R,=

C) R,=

D) R, =

According to Joule's law of heating, the
heat generated due to electric current
is given by

A) H = PRt
C) H=IR#

B) H = IRt
D) H=IR?

1 watt of power is equal to

A) IW=1Vx1A B 1W=1—C
v e
C) W= D) W= =7
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120.

121.

122,

123.

9 ThE Y YA B g, a8 e
7 & S U1 el RIe g & 7

A) HiE

B) @

C) vt

D) e

3 SRR R, 3i R, 3R i ST

ST 8, T WA TS S TAged
iy (R) &
_Ri+R,
A) R = AR,
RR
B R = — 12
"B B -,
C)R =P
R, +HR,
__RR,
D) R, = R, +R;
e 3 T 3 R o oTgem fega v 6
o fafifa s FEAHEE L |
A) H = IRt B) H = IRt
C) H=IR D) H=IR?
1 =e forega wfFr S s 3
A) tWW=1Vx1A B) 1W=%C—
_WV Ve
C) W=+ D) W= ¢
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124. The commercial unit of electrical
energy is
A) Kilowatt hour

B) Kilowatt

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

125. The resistance of a wire is

A} directly proportional to its area of

cross section

B) inversely proportional to its area of

cross section

C) independent of its area of cross

section

D) proportional to square of its area of

cross section

126. The magnetic field of a solenoid carrying

a current is similar to that of a
A) Bar magnet

B) Resistor

C) Electric motor

D) lron core

127. The AC supply to the houses is of

220 V, 50 Hz. One of the wires in this
supply is with red insulation called as

A) Live wire
B) Neutral wire
C) Earth wire

D) None of the above

124.

125.

126.

127.
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C) 35% IIIe HI & BF%d § Wi st
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A) & ht 9E

B) wftlivrs

C) forsieht =1 WX

D) dig &1 g
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A) Tergrma am
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128. The phenomenon of Electro-magnetic
induction is

A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coil

C) Inducing electric current in a coil
due to relative motion between a
magnet and the caoil

D) The process of rotating a coil of an
electric motor

129. Atthe time of short circuit, the current
in the circuit
A) Reduces substantially
B) Does not change
C) Increases heavily

D) Vary continuously

130. The device used for producing electric
current is called as

A) Generator

B) Galvanometer
C) Ammeter

D) Motor

131. The ratio of sine of angle of incidence
to the sine of angle of refraction is a
constant for given pair of media. This
law Is known as

A) Maulas law
B} Snell's law

C) Stefan's law
D) Pascal's law

128. FerE-gecht Yo ) e 2
A) T e T SR R i e

B) ©F F=0 & B forea Tt F hwwr
YT &7 Ieqe FT 3 i

C) & o R Fee & ™ o 7y &
HR et # Aia forga awn 3eww s

D) ferga Hiex & Few ® ya A ufdan

129. @1 uftey (wié wfdhe) 3 amu, ufmy &
forsreht o forega
A) YT ¥ L JqT 8
B) & srgeian &
C) et sgar &
D) SRR Sgetal &

130. fae@ ya® & SwE ¥ R 3w fve
STHAETE! SHEHOT <hl gl STl &
A) SR
B) fea-fie
C) Tt
D) HieX

131. R wem 3w % R smads wiv$
ST QA9 FN0 F 1 Y A FRR
? | su fagim A Fmr o 2
A) wiera &1 fram /figia
B) wa =1 frgia/Fram
C) e = fam /Rrgia

D) ureher =t frgia /feam
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132.

133.

134.

135.

136.

137.

Which among the following has a
larger refractive index ?

A) lce

B) Carbon
C) Diamond
D) Ruby

The effective diameter of the circular
outline of a spherical lens is called

A) Aperture

B) Optic center
C) Pole

D) Principal focus

The focal length of a plane mirror is
A) Zero B) One
C) Infinity D) Two

S! unit of power of a lens is
A) Metre B) Dioptre

C) Centimeter D) Steradian

Sl unit of potential difference is
A) Ampere B} Voit
C) Coulomb D) Joule
1 ohm is equal to

A) lampere
1volt

B) 1 volt x 1 ampere

C) 1volt
1ampere

D) 1 volt x (1 ampere)?
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133.

134.

135.

136.

137.

Fraferfiaa @ @ forot sraeriie @
CER

A) 6 /fem

B) eA

C) g

D) Wit

T TCITehR - Shi SRR S9@T o JeEt
ST Y gl AT &

A) oz

B) 3 &

C) &

D) YU haferg

e 90 ) T TS Bl 8

A) T3 B) @
C) e D) =

o= shi Tifee ) T, 3 ©

A) Hix B) fsatiex
C) siferdtet D) wufemA
forvraier i Ta. TS, T @
A) THRR B) diee
C) T D) sha
1 319 % ER 8
p) 1THR

139
B) 1 dee x 1 TRR
C) 14iee

1 TdRR

D) 1 diee x (1 TRR)?
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138.

139.

140.

141,

0O

If the length of the metallic wire is doubled
then the resistance of the wire

A) reduces by half
B) doubles

C) reduces by Y
D) quadruples

Sl unit of resistivity is
A) Qm

C) Q

B) Q' m
D) &m™

When the resistors are connected in
series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voltage across each resistor is same
as the total voitage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual

resistance

According to Fleming's left hand rule,
the fore finger is pointed towards the
direction of

A) Electric current

B) Magnetic field

C) Force exerted

D) Motion of the conductor
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141.

afe HTg o AR Y THeg S R ) S, qt
AR T wfey

A) 3 Y A B R

B) 31 BT ©

C) U =9t & &1 BT 8

D) < g @

SRR 6 T8, . RS @
A) Qm B) Q' m™
C)Q D) Oam

9 WioRITeht Y g@en § Ser s g,
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R o TA Bt &

B) W wfolies: & er-arel atees aiwy
% F Fees & TAH Bl &
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=1 3 g & $a Ry o7 F wum
Bl &

D) Ted 812 dafFas whriy @ we widia
I BT 8

AT % AT 31 % e % STgEn, o
. #Hfewmewid

A) forega sae

B) gehia &

C) Ieafsid =t

D) waTEs i Ny
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142.

143.

144,

145.

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelectric effect

A rectangular coil of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions

B) 1 revolution

C) half revolution
D) %"’ revolution

Magnetic field lines are shown closer
together where the magnetic field is

. A) Stronger

B) Weak
C) Constant

D) None of the above
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146.

147,

148.

149.

150.

image formed by a plane mirror is
always

A) Virtual and erect
B) Real and inverted

C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus

B) Principal axis

C) Focal length

D) Parallel ray

A ray parallel to the principal axis after
reflection from a concave mirror will
pass through

A) Principal focus

B) Principal axis

C) Radius of curvature

D) Center of curvature

The size of the image formed by
a convex mirror when an object is
placed at infinity is

A) Point sized

B) Enlarged

C) Large

D) Same size

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave
B) Convex
C) Plane

D) Planc-convex

146.

147.

148.

149,

150.

T THae 29 g i of e S
Bt

A) 3mvTEt 3R ==t

B) amifass 3R 3eer

C) Tt 37K Ieter

D) ardfas o @al

Teh TIEIERR 40T Y aIghal Sy ST g9 &
BT STHETE ShTedfoh 1T &

A) wum FE-fag

B) s gt

C) hishel Ty

D) SHFTR fRtor

JTFae UV § TG & o8 TqE 3§ &
THHTR O foFmr e ol #
A) wuH FE-fag

B) wum gt

C) agnai B

D) o5l &l 5

e UF g I aar ° @1 9 g,
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A) fog =1 smHR

B) =gl gatl
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Answer Key for 1 PECE (Set-C)

. No. | Answer Key | Q. No. | Answer Key 0. No. | Answer Key
1 A 51 C 101 A
2 D 52 B 102 D
3 B 53 A 103 A
4 D 54 D 104 A
5 A 55 C 105 A
6 C 56 C 106 B
7 A 57 A 107 A
8 A 58 D 108 B
9 C 59 B 109 A
10 .D 60 B 110 D
11 C 61 B 111 B
12 A 62 C 112 B
13 B 63 B 113 D
14 A 64 A 114 C
15 D 65 D 115 B
16 D 66 C 116 A
17 A 67 D 117 B
18 B 68 8 118 C
19 D 69 B 119 B
20 C 70 A 120 A
21 A 71 C 121 D
22 C 72 B 122 A
23 D 73 C 123 A
24 A 74 A 124 A
25 B 75 B 125 B
26 B 76 B 126 A
27 D 77 A 127 A
28 A 78 A 128 C
29 C 79 A 129 C
30 D 80 C 130 A
31 B 81 B 131 B
32 C 82 B 132 C
33 D 83 B 133 A
34 B 84 D 134 C
35 C 85 C 135 B
36 D 86 A 136 B
37 C 87 B 137 C
38 C 88 C 138 B
39 B 89 D 139 A
40 A 90 B 140 A
41 B o1 C 141 B
42 B 92 A 142 B
43 B 93 A 143 A
44 A 94 D 144 C
45 C 95 B 145 A
46 B 96 C 146 A
47 A 97 A 147 B
48 D 28 D 148 A
49 C 99 C 149 A
50 A 100 B 150 A




